1

O#E, FHIEE

////;Eﬁﬁjujirﬂ

&4%ﬁ;\\

3 Jk4939f= M (Ri4ELt

ESERERH S 92h N ([ 1. 6%7)

1 HEFRY - 0 AERFT B 20635 ( [A 4. 2%7)

1 EEE Y- 0 EME L5 38151 (A 1. 8%78)

OEN/SIEETi

ZOMOHKE, FELIEE  ARE, B, M, HOERERR, WERERR - EE, R,
\\\ R, U RS 4//
FERIE LR
R 24 D TECE, FEZEE) OFEMTELEEIX3IK 4939 (B L 720, RifE & RS

E 3. 4% D LT,

(H1—1, ®M1—2, £1)
() 1—1 PEEPSRERFEMTE B [%| 1 — 2  FEEESSFERIEMTE LS ORIEL
%)
5.0 4.0
BERR1E OF2E aFK23F mER4E OFEk225%F GFRM23E mE/R2245E
4.5 3.0
4.0 2.0
3.5 1.0
3.0 0.0
2.5 -1.0
2.0 -2.0
1.5 -3.0
1.0 -4.0
0.5 -5.0
0.0 -6.0
z z
) )
it it
[0] [0]
Ed %
a5 I
i &
B ]
% %
# 2
ES ES
F 1 EESBERVERT L& - FENEEE R - 1 FEITY FME b - 1R ST ERR LA
SERk244F
EH EIE: SR AC))
- EFLY 1BERLS | 1RBEE L i . w
EMELS | ; Al bl - EFY 1EER YA | 1REEE Y
REEH |YVEMFZLS |VERETELS| FHELS 4 = L= =r=
(BHM) N (BFM) (M) tEEH |YVEMTLES |VERTLS
®_ & ¥ B X & %E| 3493922 917,530 2063 381 -3.4 -1.6 -4.2 -1.8
TOMDHE, ¥EXIEE 3493922 917,530 2063 381 -3.4 -1.6 -4.2 -1.8
# = % B 619,680 167,414 3052 370 -10.4 -6.3 -10.8 -4.4
B ¥ - BB XK 536,335 75,139 16633 714 17.2 7.0 16.9 9.7
o = £ 920,720 315,098 1783 292 -8.2 -4.9 -8.2 -3.6
B & OB H 1B ZE 900,626 285,089 1004 316 0.0 3.7 -1.4 -3.7




2 EEBREFEEK
Rk 24 0 THE, FEIBEFE] OFFEEFEEIT 2 TANERY, AELHAD &
L. 6% DD & 7e 7=,
(X2—-1, M2—-2, #1)

2—1 EEPLSBHIFEHEEEK 2—2 EEPHEHIFFEHEEELD
AR
(AN (%)
140.0 6.0
OFRRIFE DFp2FE BFER223E = FRRAF OFM224F BFER23F W FR4E
120.0 4.0
100.0 2.0
[
i
80.0 = 0.0
[y
<
60.0 i 2.0
i
i
40.0 -:- -4.0
[y
<
200 4 -6.0
i
<
0.0 I 8.0

MMM D AE BHHOFOA
e NE DN BRSO FO AN

3 1FEMATCVERRLELERVNLEFEL Y EHE LS
YRk 24 D THCE, FEEZE] O 1FEFH D ERTE LT 2063 THEZRY, H
LD E 4 2%DWD LgoTc, 1HEFEFH YT VERE L& 381 T ERY, A
EHARD L 1L.8% D 7T,
(#1)



4 HABIOHR
1) ABELSE

TRk 24 0 THE, FEIAEE] AMRE LEOiERALE RS L, 4 AR a
TOHTRD L7257,
(K3—1)
B 3—1 HM7E EmOnFER A LOHER
(%) ——EH FEXIEXE

6.0 / )
-6.7
-8.0
18 2/ 3A 48 52 6A 7R 8A 9A 108 118 128
FEk244

@) nEEEHK

Vpk 24 FE D THE, FESUEE) OUFELRONFERALZARD L, £2TOH TH

e lpoin,
(M3—2)
X3 —2 WHFEEHEOFFERALOHERE

(%) ——HE, FEXIEE
0.0 T
o5 _ -0.5

’{\
-1.0

e <

2.0 -1.9

1A 2H 3R 48 sH 68 78 8Aa 9/
FERL244

10H

118

128



